= LIS AS

Expedition Rack Assembly

2577
i1 O\BCS 8120
8120X
% 3229

2.5¢10CS

3B FCS

8120;(

3931
38 FCS

2.5¢10CS

See Parts List for a complete Specifications on this page are subject to change without notice. Every attempt has been made to ensure
listing of optional accessories. the accuracy of this drawing; however, Traxxas cannot be held responsible for typographical or other errors. REV 190227-R03


https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expedition-Rack-komplett-8120X
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Expeditions-Rack-Montage-Hardware-8120
https://www.rc-hp.de/Traxxas-Traction-Boards-Montage-Hardware-8121
https://www.rc-hp.de/Traxxas-Traction-Boards-Montage-Hardware-8121
https://www.rc-hp.de/Traxxas-Traction-Boards-Montage-Hardware-8121
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-Schrauben-3x12-6-2578
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-25x10mm-Schraube-3229
https://www.rc-hp.de/Traxxas-Schaufel-Axt-Accessory-Halzer-Montage-Hardware-8122
https://www.rc-hp.de/Traxxas-Schaufel-Axt-Accessory-Halzer-Montage-Hardware-8122
https://www.rc-hp.de/Traxxas-Schaufel-Axt-Accessory-Halzer-Montage-Hardware-8122
https://www.rc-hp.de/Traxxas-Schaufel-Axt-Accessory-Halzer-Montage-Hardware-8122
https://www.rc-hp.de/Traxxas-Schaufel-Axt-Accessory-Halzer-Montage-Hardware-8122
https://www.rc-hp.de/Traxxas-Schaufel-Axt-Accessory-Halzer-Montage-Hardware-8122
https://www.rc-hp.de/Traxxas-3x8mm-Sechskants-Schraube-2576
https://www.rc-hp.de/navi.php?qs=TRX2577
https://www.rc-hp.de/Traxxas-3x15mm-Sechskant-Schraube-2579
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931
https://www.rc-hp.de/Traxxas-Schrauben-3x8mm-Senkkopf-3931



